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Algebralc Expre :

| Prove that these "Math Mééac" i::roblems
- ALWAY'S work |

**Create the algebraic expression that

represents each sequence of

 commands.

*Simplify your algebraic expression

Let n = the number
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Choose any numbeO
Maltiply by 2 20N

Add 5 L0tH
Multiply by 5
Subtract 25 ;A%
Divide by 10 . ;A
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3n+9 1
Add your original nuinber cholce 3ﬂ+?+—V\ = Lfﬂ'l"?
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Choose any number h
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Add the number one larger than your n + é"\ e \) —

original number choice

Add 11 K+ + 11
Divide by 2 AntlZ

Subtract your original number choice
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